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Minkowsski‘s convex body theorem) Let CCR” be

Bovel Convex S\OMme:L'Yl'c. sekr . Suppase NeO®RY s+
vol(C) > 2 VOL(Rn/—A) .

Then | AAC|23 . (Symmetnt means C=—C.)

Hint:  Use the ?N\n‘ous f?m‘o‘e.m Fore }i C .

i
Fove that, ¥ AeQRY |, $CA) <7 thﬂ%ﬁ .
Hiet . 15 enouuék o did r st wl@ey> b VaLCR“/A).
Ar\u‘ Vo|ume. o‘?— [0 ba” o-¥ mcla'us r _in '[P\n pd

n

vohume. o the box L L] = G_Wr) |

Def. (Minkaoski’s successive minima)

Lt AcQR). For any re®°, lek
V. i= R-spn o} (NAB@)

So the smllest r whoe Voo is S(A).

TFor o\na I<i<n, et 9\1;(1\-\'-7- ““‘P%T I diim iz ?:3'

NumThHomogDyn Page 2



So W(AV=SCAY. N (A s called the i

uccessive miima of A\ -

- Suppose. AeQMR" . Trom the defintion o successive
Minima. | & Can e o Sequence. o veckors

Vs Vs, % €4\

st 19, = (Xk(A) and vy, are R~ Linearly
&\Je‘;admlr, for any 1<k<n.

(Minkecsski’s second theorem) et AeQ(RY) .

L j'/n
“Then Q‘(l\.\ .- (Xn(ll.\) < dJdn Vot(mn/ _[\)\ :

k.
ﬂlh_-':_ L.ﬁ'l.' (U-'f ‘s LQ, as O\L)O‘Vef, -V_h:= @:{R fv-l. , an‘

wl; =(Pr‘v 1 C‘UD . let C be the Gpen eUiPSOIb‘ coith

et
aXI'S Tom\le,l +o w‘k’s and \e,mb{in. (Xh:
n d \Z
C:%Z& W Z al.\ <j__§ .

iz e 16N

=iv| Z(Z=cay
"X{llw_l“

NumThHomogDyn Page 3



(Shtm HIQ I: ‘ ,(\ A = %)g . ( onc\uc!e, 'L'hm“‘

NumThHomogDyn Page 4



